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Section A (All Questions are Mandatory) 

1      Please fill in blanks as full form of any 5 of the following  

(a) OMDA       Stand for ------------------------------------------------------ 

(b) GoNCT      Stand for ------------------------------------------------------ 

(c) SGSA         Stand for ------------------------------------------------------ 

(d) SHA            Stand for ------------------------------------------------------ 

(e) FTC             Stand for ------------------------------------------------------ 

(f) RAB            Stand for ------------------------------------------------------ 
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 SECTION B (Attempt any Four Questions) Short Notes 5 

2         Write/Explain in brief the following with examples from  Aviation 

Regulatory Management. 

   

a) In terms of AERA Act 2008, give main function of Authority in 

respect of major airports of India.  

b) What are the factor to be considered for determination of 

aeronautical services, as per section 13 (1) (a) of AERA Act, 2008? 

c) Define Aeronautical services as per AERA Act, 2008. 

d) Discuss the composition of Airport Economic Regulatory 

Authority of India. 

e) Discuss constitution of selection committee to recommend AERA 

members. 
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SECTION C (attempt Any Two Questions) 

3 Write details answer for any one of the two questions given below.  

  

(a) Discuss any five regulatory approaches practiced by different countries. 

 

OR 

(b) Discuss establishment of AERA appellate tribunal for settlement 

disputes. 
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